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There are 25 questions in all. All questions are compulsory.

Question No.1 to 14 are of 2 marks each, to be answered in about 40
words.

Question No. 15 to 21 are of 4 marks each, to be answered in about
100 words.

Question No.22 to 24 are of 6 marks each, to be answered in about
250 words.

Question No.25 is based on passage. Subquestions asked on it are to
be answered based on the given passage. Each of the three subquestions
is of 2 marks, to be answered in about 40 words.

Answers should be precise and to the point.

Start from the first question and proceed to the last. Do not waste

time over a question which you can not solve.
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TISTR Uh AT G801 2| T Difo|

Market is a social institution. Clarify.

TR & 31 e Hifsre|
Clarify the meaning of Communalism.,

RS AT A AU FI1 G 8°

What do you understand by civil society?

AHITS® 3Mds IT AfehR ol &2

What is social exclusion?

3 ISt B T 5% gRT &) 7 3R i & 18
Who founded 'Arya Samaj' and why?

"SeBIEROT F 3T T AH &7

What do you understand by 'Modernization'?

gor FrRYere &1 a0 woee SHifsw|

Clarify the meaning of Secularization.

B 3R =g # T 3R &

What is the difference between law and justice?

qIIgRI BT TAR' & 37 W el

Clarify the meaning of 'circulation of labourers'.
‘3itenfie wmer @ et sasel

Give the characteristics of 'Industrial society'.

wRI # fbr ST aret 6 31l wew & ol o Saexen A

Give examples of some house hold works of economic importance.

AR TibaT § a2 Wdl ¥ S o &7 3299 a7 &7

Mention the objective of 'Business process out sourcing’.

FHHAR & A & B9 § AT B 3udifiar sase)

Mention the utility of 'Radio' as a means of mass communication.

ot TRad T ATt AR o a7 3R &7

What is the difference between Social change and Social movement?
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15. S e § ggmor 3k sftesa o YRer e Sifse 4
Explain the role of separation and hierarchy in cast system.

16. Usiiaie &1 a1 a1 &7 Yaiiare Smifoid awen & i yor wwifad axar &2 fadamr
G rited 4
What is meant by Capitalism? How does Capitalism affect the social system?
Discuss.

17. &7a {68 ot &7 &FdE B J=7 & 910 W SRS! BT 3o DT | 4
What is Regionalism? Mention the main factors responsible for giving rise to
regionalism? Explain. '

18. 733 Siens Feiem & Hed ¥ WRa N TEIaE) IS IR & SR o1 wRpdl &1 v ifzel 4
In reference to 73™ amendment of Constitution, describe the functions and
powers of 'Panchayati Raj' institution in India.

19. FRIGRUI & R PN Tawn R U8 2 J9&1 3 fFdemr isw| 4
Discuss the effects of liberalization on Indian agriculture system.

20. SR 39T AT SR BT aRGd W DI T SR B T e &
3eerd pifoTe| 4
Clarify the meaning of Mass Communication and describe the important means
of Mass Communication.

21. TR srEiem s Baa €2 et e R wféne fuoh fRaw) 4
What is Ecological Movement? Write down a short note on 'Chipko-movement'.

22. ST Si-GY ST B AR FT &P VR § FIeT S-YH 3T H i R fiRae &
Y% HRS! BT 3o Dife| 6
What do you understand by child female-male ratio? Describe the main factors
responsible for heavy decline in child female-male ratio.

34t (OR)
T &R 3R 31 &R &1 30 a1 &P BRUT W DT 5 9y 2% B 3men 79 = # firmae
ey it 3 it 3t &
What is the meaning of death rate and birth rate? Clarify why the birth rate
decreases relatively slow than death rate.
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23. 3dniiexor @1 uRafig S sifriaser ¥ arda amfse aawen o 5 /eR

seifae foram &2 6
Define Industrialization. How has the Industrialization affected the Indian
society?

34Tl (OR)

AT STe ERET B wikeeT fRae | sufrereier # uRd arioid TRa H g uRdd-t
&1 quiF St

Define Social Structure. Describe the changes occured in Indian society during
colonialism.

24, YHSAGIUI P WRAG Feferawe W 08 & gHidl &1 o il 6

Describe the effects of globalisation on Indian economic system.
3@l (OR)
HSAIEROT % BRI RS TrIfsTH sawen # g aRadi &1 aof st

Describe the changes in Indian social system due to globalisation.

25, FrefiRaa M & errgde uer 3k e A fiw e vt & FR Ao -

HHITTE FHTeRT 7 A g B Ughi 8 FERURTI AMTAD (w7e et 8|
& TS ey safesa & S warnia fime By i s €2 3amRoT e 3
drgar vd wors 3 e 31 afts sRTORY gleur a1 siasia & Jaar 8 a1 a8 W8
mﬁ%mﬁwﬁaﬂwaﬁﬁmﬁqﬁﬁﬁumqﬁm%ﬂﬁrmﬁmﬁm
Rt i 9 st a1 ‘Tiphie’ R B a0 3 78 & afew a8 7 TS GRT 34 B AN
£ 5 3 e #1 a8 It 3 v TarST ¥ T bl aiianRoT BRe §U U Hfeipiid He
# 3% IofEE ERA\ & I AL IHISHD TRIBR0T Bt &

() P e Ta § S wafs 3R rd Reafa e 3= a@a 87 2
(W) aas ¥ afpal $ &g afae e 3ae & & foe o stRari 82 2
(1) ArETTSTS TRt et BaEd 82 2

Read the following passage carefully and answer the questions that follow-
Patterns of unequal access to social resources are commonly called social
inequality. Some social inequality reflects innate differences between individuals
for example, their varying abilities and efforts. Someone may be endowed with
exceptional intelligence or talent, or may have worked very hard to achieve
their wealth and status. However, by and large, social inequality is not the out-
come of innate or ‘natural' differences between people, but is produced by the
society in which they live. Sociologists use the term social stratification to refer
to a system by which categories of people in a society are ranked in a hierarchy.
(a) How can some person achieve prosperity and good status in the society?
(b) What is actually responsible to create social inequality among individuals?

{c) What is social stratification?
kX kX
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